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#include<bits/stdc++.h>
using namespace std
typedef long long 11

const 11 mod
const int maxn 2e5

vector<int> ep/maxn

1l gpow(int k, 1l b
11l res
b
b res k
k k

CVBB ACM Team - https://wiki.cvbbacm.com/


https://codeforc.es/contest/1350/problem/C

Last
update:
2020/05/24
21:05

2020-2021:teams:manespace:codeforc_round_641_div2_problem_c https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:manespace:codeforc_round_641_div2_problem_c

res
int main
int n scanf("sd" n
int i i n, i
int t scanf("%d" t
int i i1 t i
1l cnt
t 1
t 1
cnt
epli].push back(cnt
t eplt].push back
11l ans
int i i maxn i
epli].size n
sort(ep[i].begin epli].end
epli].size n) ans gpow (i, epli
ans gpow(i, epli

printf("slld", ans
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